L T m—
Solve for real numbers. . % éﬁ ¢ e ] i i
SEEETET =g+1,
. {4z+3y:6, T G, 2838 « gl 3
2z +y = 4; 6z + 5y = —T,; é §§ ® B 2x~3y+4w—3y“y‘
%] @ A = GBI
4 {$+15y=53, 3z — 5y = 14, £ g 8 = o ”
3z +y = 2T; 6z — 10y = 17; ¥oc B8 r2x_3y+3—x_iy+3=4
& SE—— = i
i {z+4y=37, glita % s 8E*I° B i e R
=<2 e T — 2y —
2z + by = b3; 14z + 6y = 200; = Eaz]"gg-'l': 1 4y o 3y =4;
N [3e—sy=11, o [y="-20+5, 7528 g
) Bz 10y =22 ) ol e | &;‘5%: ? 3. Solve for real numbers.
w® =28 "
9) {$=—3y+20, 10) {5x+5y:3, s ol ¥ G g
z =5y +12; 3x — 3y = 5; é 3 &% A t—3y 9x+2y’ 2) z—-2y  2r—-y
1) {2m+3y=1, 12) 2z — 3y =8, 8 =8 S -2y _ ..
3z+2y=19; 3z — 2y = 2T; \2z+y z—-y+1’ 3(r—2y)
12y = 11z — 196, Sy 8y~ 4= o Ly
13 14 : i A g el
){12$=13y+213; ){3.1:—3/—17:0; N 4){(3“’ Wl R
3z+1 29-+9 2z —vy) : (2 == g A
5 {m-{-y:3,5, i {2($+y)—5(y—x):17, \ ;"_1 i ;”+2 = 1; 2z —y) : 2z +y) :
3 — 922. i
T + 8y = 22; 3(x+2y)+ 73z +5y) =T; 5){(E+y):(x+3):3;11,
2. Solve for real numbers. ? (z—y): (y+4)=1:13.
1 z -+ i
y=——x+2, y o i y = -2, = [ 1) [1;—1]; 2) the system has infinitely many solutions = # 2y,
o 5 5 CEG] ‘|
1) 2) 2 2 z # 3y; 8) [5;3); 4) [5;6]; 5) [%; 3]. ]
R 2c—y 3z 3 SF
e T 51 4 # 5%
2l Wi e
3) T &
S R z =
e T 6 =2z — v; “5 ;
S T ey k) =)
) 3 3 R §<
1) 2 %
\ 4 e} % NP




